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Q. Regarding Exhibit JRH-3 suppose Hydro were to adopt a category of 1 

assignments that included the following three new categories: “Specifically 2 

assigned to Hydro Rural and NP, but not Industrial”, “Specifically assigned to 3 

NP and Industrial, but not Hydro Rural”, and “Specifically assigned to 4 

Industrial and Hydro Rural, but not NP”. Which transmission and terminal 5 

station assets might be reasonably reclassified from common to each of 6 

these three groupings based on providing service to two groups of 7 

customers, but not the third? Please provide the plant in service, net book 8 

value, depreciation and O&M figures (as used in the Cost of Service Exhibit 9 

RDG-1) for all assets that would properly be reclassified from common to 10 

each of these three groupings. 11 

 12 

 13 

A. The information requested is not relevant to the matters in this proceeding 14 

and is not required for a full understanding of the issues to be considered by 15 

the Board in this hearing. 16 


